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~ o6mzyun | 20[ 20 20| 20| 20 | 20| 20| 20| 20| 20| 20] 20] 20| 20| 20] 20| 3¢ na| na | na| na | ske| sk | BKP | BKP | BKP| BKP
] SKOHOMMKa
cC
opraHm3auum
© it Y campc |10 120[ 20| 10] 1o | 10| 10|10 20]10[10[20]120]20]|10]10]3¢ na| na | na| na | ske| sk | BKP | BKP | BKP| BKP
2 EesonacHocTs o6mzyua | 20[ 20| 20| 20| 20 | 20| 20| 20| 20| 20| 20] 20| 20| 20| 20] 20| 3¢ 40| 40| a0[20]40]|60]|40]s60 nal| na | nal na | eke| ke | eke | Bke | BKP| BRP
cC
YKMU3HEeAeATe/IbHOCTU
© A campc |10 120[ 20| 10] 1o | 10| 10|10 20]10[10[20]120]20]|10]10]3¢ 10| 10|10 10| 10f20]10]20 na| na | na| na | ske| sk | BKkP | BKP | BKP| BKP
=
o
E vsaiin 063.y4.4 Ele na| na | na| na | eke| ske | 8ke | BKP | BKP| BKP
x npoeKTMpoBaHme
g poeKTMp cam.p.c Ele na| na | na| na | eke| ske | 8ke | BKP | BKP| BKP
MerToap! pacyeTta
S P o6m.yua | 20[ 20| 20 20| 20 [ 20|20 20| 20| 20|20] 20| 20| 20 20] 20| 3¢ na| na | na| na | eke| ske | 8ke | BKP | BKP| BKP
o OCHOBHbIX TEXHUKO-
2 3KOHOMMUYECKMX
g nokasateneit
= campc |10 120[ 20| 10] 1o | 10| 10|10 20]10[10f20]120]20]|10]10]3¢ na| na | na| na | ske| sk | BKP | BKP | BKP| BKP
NPOEKTUPOBaHUA
5| nponssoacraentan 063.yu.4 Ele 36,0 36,0 na| na | na| na | sxe| sk | BKkP | BKP | BKP| BKP
cC
NpakTuka
= camp.c Ele na| na | na| na | eke| ske | 8ke | BKP [ BKP| BKP
o Boinoskenne obaz.yun| 40| 40| 40| 40| 40 [40|40]| 40| 40|40]|40]|4s0|40]|40]|40][40]3c 80[80|s80]|80|80[80]|80]s0 N4 NA | N4 [ NA | BKP| BKP [ BKP [ BKP [ BKP| BKP
g XYZLOXECTBEHHO-
3 KOHCTPYKTOPCKNX
= AU3alHepCKNX
S ) campc | 20[ 20 20 20] 20| 20|20 20] 20| 20|20 20]20] 20| 20 20 3¢ 40| 40| 40][40]40]40]|40](320 na| na | na| na | eke| ske | Bke | BKP [ BKP| BKP
NPOeKTOoB B MaTepuane
g Ocrosel obazyu| 40| 40| 40 [ 40| 40| 40] 40| 40| 40| 40]|40]|40]|40]40]a0]a0fsc naf na [ na| na | BKP| BKP [ BKP | BKP | BKP| BKP
5 KOHCTPYKTOPCKO-
x| texronormyeckoro
g o6ecnevenns ausaina | campc [10[ 1,0[ 10 [ 10| 10 [ 1ofvofvof 1o 10| so|20f 10| 10| sof10fac na| na | na| na | sxe| sk | BKP | BKP | BKP| BKP
o
° o6mzyun | 20[ 20 20| 20| 20 | 20| 20| 20| 20| 20| 20] 20] 20| 20| 20] 20| 3¢ na| na | na| na | ske| sk | BKP | BKP | BKP| BKP
g Mcuxonorusa Aenosoro
x obweHuns
g campc |10 120[ 20| 10] 1o | 10| 10|10 20]10[10f20]120]20]|10]10]3¢ na| na | na| na | ske| sk | BKP | BKP | BKP| BKP
=
S Texronorua o6mz.yuu | 40| 40| 40]40]| 40|40 40| 40| 40|20]20]a0]40]|40]2s0]a0]3c 80|80|s0[s0]80]|60]8s0]s60 na| na | na| na | ske| sk | BKP | BKP | BKP| BKP
3 BbINONHEHUA NPOEKTHbIX
g pa6or campc | 20|20 20]20] 20| 20|20 20| 20| 20|20|20]20]20] 2020 3¢ 40| 40| a0[20]40]30]|40]30 na| na | na| na | ske| skp | BKP | BKP | BKP| BKP
o~ OcyuiecTBneHune
S yu 063.y4.4 3C 40| 40| 40]40]40]40]|40]320 na| na | na| na | eke| ske | 8ke | BKP | BKP| BKP
3 npouecca
x An3aiiHepcKoro
=
S| npoexmposanmn cam.p.c 3C 20| 20| 20[20]20]20]20(20 na| na | na| na | sxe| sk | BKkP | BKP | BKP| BKP
n 06m3.y4.4 Ele 36,0 36,0 na| na | na| na | ske| sk | BKkP | BKP | BKP| BKP
g YuebHas npakTuKa
> cam.p.c 3C na| na | na| na | ske| sk | BKkP | BKP | BKP| BKP
8| Npoussoncraenan | 065V Ele 36,0(360[ na| na | na| na | ske| Bk | BkP | BKP | BKP| BKP
c
NpakTuKa
= P cam.p.c Ele na| na | na| na | eke| ske | Bke | BkP | BKP| BKP
B :
CEro uac. B HEAMo 36.0| 36.0| 36.0| 36.0] 36.0 | 36.0] 36.0] 36.0| 36.0 | 36.0]36.0 36.0 36.0] 36.0] 36.0| 36.0 36.0] 36.0{ 36.0] 36.0] 36.0 36.0] 36.0] 36.0 36.0] 36.0] 36.0 36.0] 36.0] 36.0
obszatensHoit Harpyskum
Bcero yac. B Heaento
1o Hac. B neaen 18.0| 18.0| 18.0| 18.0| 18.0 | 18.0| 18.0{ 18.0] 18.0 | 18.0{18.0| 18.0[ 18.0] 18.0[ 18.0] 18.0 18.0| 18.0{ 18.0] 18.0| 18.0| 18.0| 18.0[ 18.0
06A3aTenbHoO Harpyskn
Bcero 4acos B Hegento 54.0[54.0[ 54.0| 54.0| 54.0 | 54.0| 54.0| 54.0| 54.0 | 54.0{54.0| 54.0| 54.0] 54.0] 54.0{ 54.0 54.0(54.0|54.0] 54.0] 54.0| 54.0{ 54.0| 54.0] 36.0] 36.0| 36.0 36.0| 36.0] 36.0
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